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Business Studies

Sticky Note

A valid point made in relation to the need to cater for different tastes and therefore the need for market research.  AO1 marks have been allocated.  However, there is little or no application within this paragraph.

























1 |5 | Consider how changes in interest rates, taxation and inflation will affect
McDonald’s and its stakeholders? [14]
AO1 AO2 AO3 AO4
Band
2 marks 2 marks 4 marks 6 marks
4 marks 5-6 marks
Excellent analysis | Excellent evaluation of
of the impact of the impact of changes
changes in in interest rates,
interest rates, taxation and inflation
taxation and on McDonald’s and its
inflation on stakeholders.
McDonald’s and
3 its stakeholders. The impact on a range
of stakeholders is
The analysis will assessed.
be balanced with
developed lines of | Well-supported
reasoning. judgements are made.
May give an overall
conclusion.
2 marks 2 marks 2-3 marks 3-4 marks
Good knowledge Good application | Good analysis of | Good evaluation of the
and understanding | of the impact of the impact of impact of changes in
of the impact of changes in changes in interest rates and/or
changes in interest | interest rates interest rates taxation and/or
rates and/or and/or taxation and/or taxation inflation on
taxation and/or and/or inflation on | and /or inflation McDonald’s and/or its
2 inflation on McDonald’s and on McDonald’s stakeholder(s).
McDonald’s and/or | its stakeholder(s) | and/or its
its stakeholder(s). stakeholder(s). The argument may be
The learner unbalanced.
The learner clearly | makes good use The analysis may
understands the of the data in the | be unbalanced Supported judgements
concept of case study but points are are made.
stakeholders. developed.
1 mark 1 mark 1 mark 1-2 marks
Limited knowledge | Limited Limited analysis Limited evaluation of
and/or application of the | of the impact of the impact of interest
understanding of impact of interest | interest rates rates and/or taxation
the impact of rates and/or and/or taxation and/or inflation on
interest rates taxation and/or and/or inflation on | McDonald’s and / or
and/or taxation inflation on McDonald’s and / | stakeholder(s).
1 and/or inflation on | McDonald’s and / | or stakeholder(s).
McDonald’s and / or stakeholder(s). Judgements are
or stakeholder(s) Developments superficial and
The learner may be brief. unsupported.
makes some use
of the case study. Evaluation will be
uneven and focus on
just McDonald’s or
one stakeholder.
0 marks 0 marks 0 marks 0 marks
0 No knowledge or No application. No analysis. No evaluation.

understanding.






Indicative content:

e Interest Rates

Interest rates are an additional cost of borrowing or money accrued from savings.

Itis clear from the data that interest rates are historically low. This could be of benefit to
McDonald’s in two ways. Firstly, the general public may have increased spending power
with lower interest payments on loans and mortgages. This may mean that more customers
can afford to eat out regularly, increasing sales for McDonald’s. However, it could also mean
that customers substitute fast food for more expensive restaurants. Secondly, McDonald’s
may benefit from lower costs as a result of lower repayments on any money long term
borrowing or the company may choose to take advantage of the low rates to fund more
growth. However, the rates have fluctuated and there if McDonald’s have become
dependent on borrowed money then if the rates were to rise, costs would be increased and
profits may have to fall.

e Taxation

Taxes can be broadly split into two types. Direct taxation (taxation on income) and indirect

taxation (taxes on spending). McDonalds will be affected by both. In particular they will be

affected by:

- Corporation tax which is a tax on company profits. At the previous rate of 19%
McDonald’s will be negatively affected with lower levels of retained profit. With
McDonald’s earning £483million in profits this should generate £91 777 000 for the UK
government which can provide a vital source of income for the UK government that can
be used to fund the public sector, spent on infrastructure or used to support the
economy. However, the case study suggests that McDonalds are paying far less than
this, with £65 000 000. Whilst this is still a significant sum, the government are missing
out on vital income. This is positive for McDonald’s because they are receiving more
retained profit which could be reinvested or they could provide large dividends to
shareholders which will encourage greater investment.

- VAT which is a tax on most goods and services. The case study shows that this can
fluctuate but it had been stable on 20% for almost a decade. This is good because
businesses such as McDonald’s can plan better but it will still increase the costs of
providing the food on the menu. Not only this, but it also affects customers because it is
charged to them also. If this were to rise, then it is likely that prices would rise or profits
would fall. However, this is good for the government because McDonalds is popular then
this will generate large sums of money for them to use.

- Fuel Duty which is a tax on petrol and diesel. According to the case study this is likely to
increase which may negatively affect McDonald’s because they have to transport large
guantities of supplies across more than 30 000 restaurants. This will no doubt increase
business costs which could impact on profitability. However, through their CSR policy
the company have cut the amount of fuel used by half so this will not have such a
significant impact. It may also be that the additional costs are passed on to the
consumer in terms of higher prices but this could be detrimental to sales.

- Sugar Tax introduced in 2018 could have been detrimental to company profits but
McDonald’s chose to pass the cost on to customers. Therefore, customers felt the brunt
of this tax with 8pence and 12pence increases to the costs of drinks and/or meals.
However, this could leave a bad taste with consumers so they may choose alternatives
to McDonalds. Alternatively, McDonalds have widened their product portfolio to include
healthier drinks such as Sprite Zero which may provide more choice for customers.





e Inflation

Inflation is a general rise in price. As the data shows, the UK government have a target of
2% because this would be stable and easier to manage the economy. Unfortunately, as the
data suggests, this is not always possible and the rate fluctuates.

In 2007, there was a period of deflation which can cause many problems for businesses.
During these periods customers often refrain from buying in the hope that prices fall even
further. This could impact on McDonald’s because it may mean that there is less footfall and
less customers visiting restaurants. However, this may have resulted in lower costs for raw
materials which could be passed on to customers in lower prices or simply could lead to
increased profit margins for the company which can then be passed on to shareholders in
the form of increased dividends.

If inflation is high it can also be a problem with increased costs of raw materials which may
lead to increased prices for customers. For example in 2011 and 2017 inflation was relatively
high, this can result in a fall in customers plus increased costs from higher wage demands.
However, at times like this it could be detrimental for employees; if wages rise it may mean
that businesses like McDonalds reduce the size of its workforce.

Credit any other valid point.










A valid point is
presented about the
impact of the sugar
tax providing more
money for the
government.
Unfortunately, there
is no analysis of the
impact it will have on
the government in
terms of how the extra
tax revenue will
benefit the
government. AOL
and AO2 marks have
been accessed.

The first sentence is
incorrect because it is
inflation that the
government try to
maintain at 2% and not
interest rates.

The final part of the
paragraph is accurate by
suggesting that interest
rates being low may mean
that there will be increased
investment and less money
being paid back.
Therefore, credit was given
to this argument.

A valid link to the impact that the new sugar tax may have on customers. Therefore, there is limited
development of the impact of taxation to access AO3 marks.

Overall, a total of 4 marks were awarded with limited knowledge, application of knowledge, analysis and evaluation evident. Therefore, 1
AO1,1A02,1 AO3 and 1 AO4.










A valid benefit of low
interest rates which hasj
been developed with
clear and accurate = —
chains of reasoning.
The positive impact on_|
low interests has been
explained e.g.
increased sales
because consumers are

less likely to save and™
lower costs leading to
increased profit. An =
accurate judgement is
made as well, —
suggesting that more
royalties will be paid tq_
benefit shareholders/
franchisors. Therefore, |
all 4 assessment
objectives have been
accessed.

A negative impact of
rising interest rates =
clearly identified and
analysed. The —
discussion around
reduced consumer _J
spending and increase(
cost of borrowing
provides balance in
relation to the analysis
and evaluation of ]
interest rates. Howeveyf,
the discussion centres
around the impact on
the business, with no |
real discussion of the
impact on stakeholders]
- a key element of the
question.
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Business Studies

Sticky Note

A valid point made in relation to the need to cater for different tastes and therefore the need for market research.  AO1 marks have been allocated.  However, there is little or no application within this paragraph.
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Business Studies

Sticky Note

A judgement is evident in the introduction with the candidate suggesting that the economic factors may affect levels of demand and finances.  



Business Studies

Sticky Note

Knowledge and understanding of interest rates and the impact of low interest rates is evident in the first sentence of this paragraph.  



Business Studies

Sticky Note

The candidate has developed an argument to analyse the impact of low interest rates on McDonald's.  Customers may spend more rather than save and therefore demand may increase for the business products leading to more revenue and profits.  AO1, AO2, AO3 and AO4 marks are accessed here.



Business Studies

Sticky Note

Balance is provided to the argument because the candidate has demonstrated understanding of the impact of higher interest rates.  Data from the case study has been referenced.  AO2, A03 and AO4 marks can be awarded for this point.



Business Studies

Sticky Note

A valid point is made about the introduction or increasing of taxes.  The point is developed and analysed in relation to the negative impact it may have on McDonald's e.g. making the business less competitive due to increasing prices as a result of the sugar tax.  AO1, AO2, AO3 and AO4 is credited for this argument.



Business Studies

Sticky Note

Knowledge of the impact of inflation on consumers is evident in the first sentence.



Business Studies

Sticky Note

Knowledge of the negative impact inflation will have on McDonald's due to increasing cost of resources.  
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Business Studies

Sticky Note

Link to the positive and negative impact of changing economic factors on different stakeholders to help fully answer the question.

Overall, this response was awarded a total of 10 marks.  Good levels of knowledge and understanding, analysis and evaluation were evident.  Unfortunately, arguments lacked the balance required in the discussion about taxation and inflation to achieve band 3 for AO3 and AO4.  
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Read the case study below and answer the questions that follow.
McDonald’s

McDonald’s is one of the world’s largest chains of fast-food restaurants. The company was
started in 1948 by brothers Maurice and Richard McDonald in California, USA. They were able
to grow the business by selling quality products in large quantities for low prices, about half the
price charged by competing restaurants. However, it wasn’t until Ray Kroc joined the brothers
that it grew beyond the USA. He introduced the concept of franchising. On April 15, 1955, the
first McDonald’s franchise was opened.

Global strategy

McDonald’s currently operates in over 100 countries and has well over 30000 restaurants,
with approximately 210000 workers serving more than 69 million customers daily.

After a few setbacks in certain countries, McDonald’s adapted its standard product range

to customise its menu to meet local needs. For example, in India McDonald’s uses chicken
instead of pork and beef and has also introduced the McAloo Tikki, which is made with a
combination of potato and peas and Indian spices. McDonald’s has also adapted its activities
to fit in with Japanese culture, where the menu is changed to include the Teriyaki burger, a
teriyaki pork patty with teriyaki and sweet lemon sauce. In Saudi Arabia the restaurants close
5 times a day for Muslim prayers, with 50% of products manufactured locally. Even within the
UK, local tastes are accounted for with 100% British Beef used in all products containing beef.

The main growth strategy McDonald’s uses is franchising. Franchisees get assistance in terms
of managerial know-how and supplies are cheaper by using the company’s supply chain.
McDonald’s earns revenues from its franchisees in the form of a monthly fee depending on
the restaurant’s sales. Also, unlike most franchises, McDonald’s buys the properties and then
rents them to franchisees and as a result the franchisor receives a monthly rent.

The success of the franchising model depends on certain factors. Firstly, McDonald’s
standardises operations across its franchises to ensure a standard McDonald’s experience
anywhere in the world. Secondly, McDonald’s is also one of the largest advertisers within the
fast-food industry. By having an integrated brand promotion across the world, McDonald’s
ensures brand recognition and a consistent image across the countries and markets in which it
operates.
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Corporate social responsibility (CSR)
According to McDonald’s website, McDonald’s has a CSR strategy which focusses on:

* Nutrition and well-being — McDonald’s goal is to continuously improve its product
range and increase the number and variety of new options that deliver the taste and
balance customers seek. In its restaurants McDonald’s has improved the way that
it gives information to customers so that customers can be aware of the nutritional
information of its food. For example, menus display the amount of calories in each food
option. McDonald’s pays particular attention to the products offered to children and how
the business communicates to both children and their parents. For example, parents
can now swap fries for fruit bags in Happy Meals.

* Environmental responsibility — When it comes to the environment “Less is more”
— less energy, fewer emissions, and less waste. McDonald’s seeks to reduce its
environmental impact for both the benefit of the planet and the business’s long-term
financial success. McDonald’s aims to use less and spend less through exploring ways
to reduce its environmental impact. For example, McDonald’s recycles the cardboard
boxes used in more than 89% of restaurants and more than 85% of packaging used is
made from renewable resources. The business is also finding ways to increase energy
efficiency in restaurants in order to save money and reduce environmental impacts. For
example, low-energy LED light bulbs, energy-saving equipment and waterless urinals
are used in restaurants, and used cooking oil is recycled into biodiesel to fuel more than
half of its delivery trucks. In 2021 McDonald’s introduced its vegan burger, the McPlant.

* Employee experience — The continued success of McDonald’s requires it to develop
and retain a diverse, engaged and talented workforce. In January 2018, McDonald’s
gave its workers a £0.40 per hour pay rise ensuring wages at the fast-food chain were
£8.00 an hour, keeping it slightly above the official UK National Minimum Wage, at that
time.

e Community — McDonald’s is committed to using its influence, people and profits to
create a lasting impact on the communities in which it operates. McDonald’s makes a
difference through the support of Ronald McDonald House Charities and its children’s
programmes — providing free family accommodation at NHS hospitals allowing families
to be close to children whilst they are in hospital. It also makes a difference through
local, regional and global partnerships. At a local level, McDonald’s helps junior and
adult football teams by providing new kits and equipment for them to use. McDonald’s
also made a difference through sponsoring the Great British Spring Clean in 2019, a
national campaign to keep Britain tidy and free from litter.

However, in January 2018, The Telegraph reported that only half of McDonald’s packaging is
made from sustainable materials and only 10% of its restaurants recycle.

In April 2019, The Guardian reported that the McDonald’s Monopoly promotion was being
attacked by health campaigners for putting profits before people’s health. The article argued
that the Monopoly lottery game encourages people to buy larger portions and offers unhealthy
food prizes such as sugary drinks, desserts and ice creams.

In addition, as one of the world’s largest private employers, McDonald’s still faced numerous
calls to increase wages. Despite an above inflation pay rise, some argue that McDonald’s
could afford to pay workers at least the living wage which is above the National Minimum
Wage but not a legal requirement.

According to The Sunday Times in October 2018, McDonald’s were able to reduce the

amount of corporation tax it had to pay to the UK Government through the use of its franchise
agreement with its parent company (McDonald’s UK is a subsidiary of McDonald’s Corporation
in the US). In the UK, McDonald’s paid corporation tax on £341 million profit instead of £483
million profit.





80 Economic factors

Before the economic recession of 2007, The Bank of England base interest rate tended to
fluctuate between 3.5% and 5.5%. However, between 2007 and 2017 the base interest rate
was historically low at between 0.25% and 0.5%. Since 2018, the interest rate had been at
0.75% and some experts predicted it to gradually rise with expected economic growth. In 2022
85 The Bank of England raised the base interest rate on a number of occasions to help fight
increasing inflation. In August 2022 it was 1.75% and was raised to 3% in November 2022.

In 2011, the rate of Value Added Tax (VAT) increased from 17.5% to 20%. This is charged on

the purchase of most goods and services. Customers buying from McDonald’s have to pay

20% VAT. However, the UK Government has the power to change the rate of VAT depending
90 on the government’s priorities.

The UK Government set the corporation tax rate for profits at 19% between 2017 and 2022.

On the 6 April 2018, a new sugar tax was introduced in the UK. This meant that manufacturers
of fizzy drinks and soft drinks were taxed depending on the amount of sugar in their drinks.
This affected drinks manufacturers such as Coca-Cola and it meant that McDonald’s faced

95 increased costs when selling Coca-Cola products in its restaurants. As a result, McDonald’s
increased the price of these drinks, with a rise of 12p for a medium-sized drink and 14p for
a large drink. McDonald’s believed that the price increase was reflecting the purpose of the
new tax which was to encourage customers to choose healthier options which it has within its
product range such as Sprite Zero and bottled water.

100 Fuel duty is a tax on petrol and diesel fuel. This can have a significant impact on the cost
of logistics for a business such as McDonald’s. In 2022 the UK Government announced a
reduction, for 12 months, on fuel duty.

In the UK, the target for inflation is 2%. However, inflation can fluctuate. For example, in 2009
the UK experienced a period of deflation, with a rate of —0.5% but this then rose to 5.2% in

105 2011. It then continued to fluctuate, with the rate of inflation being 3.1% in 2017, falling to 1.5%
in 2019 and rising to 2.8% in 2021. During 2022 the inflation rate steadily increased and in
August 2022 it hit 10.1%, with many experts predicting it will rise further.

IIE' Consider how changes in interest rates, taxation and inflation will affect McDonald’s 14
and its stakeholders.
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3 | 2 | Evaluate the view that the most successful businesses are those that invest
large amounts of capital into new technology. [20]
AO1 AO3 AO4
Band
4 marks 8 marks 8 marks
6-8 marks 6-8 marks
Excellent analysis of Excellent evaluation of the
the importance and importance and impact of investing
impact of investing in in new technology.
new technology.
The evaluation is balanced and

The key issues for both | detailed and will focus on the key
sides of the debate are | issues.
analysed in detalil.

3 The evaluation provides a broad
The analysis will be range of arguments on both sides
well balanced, well of the debate.
developed and with a
clear line of reasoning. | Clear judgements are made with

supporting statements to build an
argument.
A holistic evaluation will be offered
with an overall conclusion.
3-4 marks 3-5 marks 3-5 marks
Good knowledge and | Good analysis of the Good evaluation of the importance
understanding of the | importance and impact | and impact of investing in new
importance and of investing in new technology.
impact of investing in | technology.
new technology. The evaluation may be unbalanced
A number of key issues | and will include most of the key
2 Clear understanding are analysed. issues.
of the benefits and
drawbacks of a range | The analysis may be Judgments are made with some
of different methods uneven, with some attempt to support statements and
of new technology to | well-developed ideas build arguments.
a business. and others where the
development is more A brief conclusion will be offered.
limited.
1-2 marks 1-2 marks 1-2 marks
Limited knowledge Limited analysis of the | Limited evaluation of the
and/or understanding | importance and/or importance and impact of investing
of the importance impact of investing in in new technology.
and/or impact of new technology.
investing in new The evaluation will include some of
technology. A limited number of the key issues but with limited
issues are analysed. development.
1 The learner identifies

some of the key
benefits and/or
drawbacks of
investing in new
technology.

The analysis may focus
on one side of the
argument.

Judgements are superficial and
unsupported.

Evaluation will be uneven and
focus on one side of the argument.

Evaluation tends to be asserted
rather than explained.






0 marks 0 marks 0 marks
No understanding of No analysis of the No evaluation of the importance
0 the importance or importance or impact of | and impact of investing in new
impact of investing in | investing in new technology.
new technology. technology.

Indicative content:

Arguments in favour:

There are many industries in all three sectors of the economy where new technology plays

an important role in business success. For example, farming, fishing, manufacturing and the

provision of services can all benefit from new technology. Irrigation systems in farming,

sonar technology in fishing, CAD/CAM and robotics in manufacturing, the use of e-

commerce and m-commerce in retailing, the use of social media and digital marketing in

promotion, are all examples of how new technology can be used to improve business
operation.

Those businesses that make the best use of these technologies are likely to have a

competitive advantage over their rivals as productivity will increase and they will be more

profitable. Benefits include:

¢ Increased speed/quality in production of and/or provision of goods which results in a
reduction in unit costs (economies of scale) - technology will help to minimise waste in
the production and provision of goods and services which will clearly speed up the
production of goods and services but also lead to a reduction in costs with less
resources used including materials, labour and time. Therefore, this will help to improve
profitability for businesses, which could be invested into other functional areas leading to
further improvements in quality and/or efficiency.

¢ Improvements in the collection and interpretation of data — businesses from all industries
including manufacturing and retail are utilising computerized systems to collect market
research data regarding needs and wants of customers. This data is then utilized to meet
the needs and wants of different target groups. Examples include loyalty cards, which
collate data and create customer profiles helping with the promotion of gods and
services. Again, this helps to avoid wasteful marketing which is reducing costs but
improving quality of service.

e E-commerce, M-commerce and Social Media has not only widened the market for
businesses with physical stores but it has also led to the very existence of businesses
such as Amazon who have now gone on to dominate their markets because it also leads
to reduced fixed costs in relation to rent and rates. Therefore, this reduced costs can
improve profits but also be used to improve competitiveness for example, savings may
be passed on to consumers with cheaper prices.

Arguments against:

e The costs involved — many businesses particularly small businesses or those operating
in niche markets may not have the capital available to invest in new technology but still
survive because the serve a local or small market that are happy with the standard of
goods and services provided. Many micro or small businesses in local communities have
existed for over 100 years without the introduction of expensive technology.

e Some businesses, often in particular niche markets, benefit from not using new
technology, their USP is the fact that they make things using traditional technologies - for
example Morgan cars, home-made produce such as cakes and jams and hand-made
guitars, are all popular precisely because they are not made with new technology.

e The need to train staff - the introduction of new technology may not work unless
employees are properly trained to use it and have a positive attitude to its use. They may
also need to be recompensed with higher wages that, to some extent, offset the benefits
of the new technology.





e The possibility that it will not work or go out of date before it has paid for itself - Also,
even good technology may become rapidly out of date, as the rate of progress is so
rapid. This means that some investments may never pay back.

e A great deal of money can be invested in IT hardware and software that does not work
and the same is true of any new technology that is badly designed. There are plenty of
examples of badly implemented IT schemes, particularly in the public sector, that have
cost a great deal of money, taken a long time to introduce and have ultimately failed.

¢ Even companies that exist in markets where new technology is usually an advantage are
not guaranteed success. Some Japanese television companies invested a great deal of
money in new technology but were still unable to compete effectively with manufacturers
in Korea and elsewhere because their labour costs were too high.

e There also has to be a market for the products produced. For example the UK coal
mining industry had a lot of new technology invested in it only months before the
decision to close the majority of mines because coal could be imported cheaper than it
could be extracted in the UK.

Properly used new technology can greatly benefit a business, helping it to produce products
more cheaply and responding more quickly to the requirements of its customers. Technology
tends to be expensive so the returns on investment in it are not always guaranteed.
Therefore the conclusion is that in many cases the proposition is true but new technology is
only one factor in business success and attention needs to be paid to the other factors as
well.

Credit any other valid argument.
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Sticky Note

A valid point about investing in technology being important because businesses need an online presence to be recognised. 








Business Studies

Sticky Note

This paragraph provides some development of the point suggesting having an online presence is important.  However, the analysis is limited.



Business Studies

Sticky Note

Another valid point raised about the benefit of having an online presence but again, the analysis is limited.



Business Studies

Sticky Note

A valid counter argument which outlines the negative impact of investing in technology in relation to the cost and impact on profits.  This allows the candidate to access AO4 marks.



Business Studies

Sticky Note

A valid point with partial judgement but the analysis is limited.



Business Studies

Sticky Note

A valid benefit of technology in aiding communication to demonstrate knowledge but the development is vague.








Sticky Note

Overall, the response does demonstrate some knowledge of the reasons why investing in technology is beneficial to a business and there is one valid counter argument.  However, the analysis is brief and the evaluation is limited.  Therefore, a total of 8 marks were awarded - 2 AO1, 3 AO3 and 3 AO4.













Business Studies

Sticky Note

A valid point about the benefit of investing in technology in terms of replacing labour with machines.  The point is developed with chains of reasoning about the impact it will have on costs, efficiencies and quality.  Therefore, AO1, A03 and A04 marks have been allocated.



Business Studies

Sticky Note

Another valid chain of reasoning in relation to improved quality and efficiency gained through the use of technology, allowing a business to gain a competitive advantage and maybe have a unique selling point.  Therefore, AO1, AO3 and AO4 marks are allocated.



Business Studies

Sticky Note

A valid drawback of investing in technology has been identified but the analysis is not relevant or unrelated.



Business Studies

Sticky Note

The impact on the government is not relevant to the question.
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Business Studies

Sticky Note

The sentence is development of the point made previously in terms of the high cost of new technology and the impact on cash flow.  This provides evidence of analysis to achieve AO3 marks.



Business Studies

Sticky Note

A valid counter argument suggesting that capital should be invested in ethical strategies to benefit in the longer term through a better image.  This providing some balance to the response.





11



Sticky Note

Overall, this response achieved a total of 11 marks - 3 AO1, 4 AO3 and 4 AO4.  The response did show good knowledge of the benefits and one drawback of investing in technology but mainly focussed on one industry which was manufacturing.  To achieve higher levels, it may have been useful to discuss the impact on different industries and/or businesses of different size e.g. SME's.  In addition, more development of points with examples to justify arguments may have supported the analysis and evaluation.
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Business Studies

Sticky Note

A valid argument in favour of investing in technology.  The response accurately shows how CAD and CAM can be utilised by manufacturers to improve efficiency, standardise quality and reduce labour costs.  Therefore, AO1 is evident and the analysis is good to gain AO3 marks.



Business Studies

Sticky Note

A valid argument against investing in technology with a focus on new businesses that may not have the finances.  In addition, a discussion around the cost implications such as paying redundancy costs if workers are replaced.  This provides balance to the response to access AO4 marks as well as showing knowledge for AO1 and analysis of the point made for AO3.



Business Studies

Sticky Note

A valid argument in favour of the use of technology by outlining the benefits of using CAD to create designs.  There is good knowledge demonstrated of the purpose of CAD and an analysis of the benefits in terms of reducing waste and costs.  There are chains of reasoning to access higher bands for AO3.



Business Studies

Sticky Note

A valid drawback of the use of CAD, with a business needing to provide training and this has been developed with the impact on costs.  Therefore AO1 and AO3 marks can be allocated.
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Business Studies

Sticky Note

Further development of how the use of CAD and CAM can increase business costs.



Business Studies

Sticky Note

Another valid benefit of using technology and how it can improve communication.  Good use of an example to explain how ICT can improve communication within business operations.



Business Studies

Sticky Note

A valid counter-argument of using ICT to communicate.  This provides some balance and therefore accesses AO4 marks.



Business Studies

Sticky Note

A valid conclusion with further evaluation to suggest that businesses should also invest in other functions such as market research and advertising to be successful.  

Overall, this response achieved a total of 16 marks.  4 AO1 with detailed knowledge, 6 AO3 with excellent analysis of the impact of investing in ICT and 6 A04 with excellent evaluation. 










3. Technological factors

n Evaluate the view that the most successful businesses are those that invest large

amounts of capital into new technology. [20]
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4 | 1 | Describe the challenges to a large UK based clothes manufacturer when
developing products for international markets. [10]
AO1 AO2
Band
6 marks 4 marks
5-6 marks
Excellent knowledge and understanding
of the challenges businesses face when
developing products for international
markets.
3
The candidate illustrates excellent
knowledge and understanding of
international trade and the difficulties of
international trade.
3-4 marks 3-4 marks
Good knowledge and/or understanding of | Good application of the challenges
the challenges businesses face when manufacturers face when developing
developing products for international products for international markets.
2 markets.
The candidate clearly identifies the
The candidate illustrates good knowledge | challenges to clothes manufacturers.
and understanding of international trade
and the difficulties of international trade.
1-2 marks 1-2 marks
Limited knowledge and/or understanding | Limited application of the challenges
of the challenges businesses face when manufacturers face when developing
developing products for international products for international markets.
1 markets.
The candidate response is mainly
theoretical with the inclusion of some
reference to the challenges a clothes
manufacturer would face.
0 0 marks 0 marks

No understanding.

No application.

Indicative content:

International trade consists of buying and selling of exports and imports between countries.

e Promotional strategies — need to be altered to cater for the different needs and wants of
customers from different countries as well as different languages.

¢ Maodification — products may need to be adapted to meet the needs of different customers in

terms of different culture or religion. An example would be different material required to make

the clothing or to accommodate different climates/weather. Another example may be some

countries may not purchase or wear leather products therefore manufacturer may need to

alter the fabrics used to make products.
e Pricing — distributions costs may increase price which will make it difficult for manufacturers

of clothing to compete in global markets. Therefore, margins may have to be lower in order to

compete with domestic clothes manufacturers.

e Languages — this could have a major impact on the labelling of clothing. Manufacturers need

to ensure that accurate labels are placed on items of clothing to abide by laws but this may
increase production costs.

e Laws — health and safety / consumer protection are different in many countries especially
those outside of the EU. Manufacturers of clothing need to ensure that products meet the
criteria set out in legislation which could again increase costs.

Credit any other valid point.














Business Studies

Sticky Note

A valid point is presented by the candidate.  Suggesting that market research is required to develop products for different cultures is correct.  However, the point is not developed to illustrate detailed understanding and there is no application to a UK based clothing manufacturer.  



Business Studies

Sticky Note

This argument is not valid because the question stipulates that the business is manufacturing in the UK and it is therefore selling abroad as opposed to becoming multinational and operating abroad.



Business Studies

Sticky Note

Another valid point of discussion by suggesting that promotion is critical because host country businesses will have loyal customers.  However, there is limited development and no application to the clothing industry.



Business Studies

Sticky Note

The final point is not relevant because Tesco operated in the USA as opposed to selling in international markets.

Overall, this response achieved a total of 3 marks - 2 for AO1 because the candidate had limited knowledge of the challenges faced when manufacturing goods for international markets and 1 AO2 because the response is mainly theoretical.
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Business Studies

Sticky Note

To conclude, this is an excellent response with excellent analysis and evaluation of the impact of interest rates, taxation and inflation on McDonald's.  However, there is little or not analysis and evaluation of the impact of these economic factors on the stakeholders of the business.  Therefore, band 3 for AO3 and AO4 could not be accessed and the marks allocated within band 2 were also restricted.  Overall, the response achieved 9 marks, with 2 AO1, 2 AO2, 2 AO3 and 3 AO4.





A valid point
about
developing
product lines in
relation to
consumer
profiles such as
weight and

height. This can

be allocated
AO1 marks and
AQ2 for
application.
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Overall, this response achieved 5 marks, with 3 AO1 and 2 AO2. The points raised and the description provides sufficient

knowledge to access band 2 for AO1. In addition, there is enough application to UK based manufacturers developing clothing
for international markets to achieve the top of band 1 for AO2. .

—

L This point
has some

| merit to it but
itis also a
little vague.
[There will be
competition in
Fnternational
markets but
Lhis response
does not
Lreally
differentiate

| from selling
within the UK
and selling
Tnternationally
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Business Studies

Sticky Note

The first sentence demonstrates knowledge of the challenges that UK based manufacturers may face when developing products for international markets - accessing AO1.



Business Studies

Sticky Note

A valid point which has been developed well to describe the challenge faced due to increased competition.  It is accurate to suggest that host country businesses may benefit from lower costs of production and will therefore have lower prices.  AO1 and AO2 is evident in this paragraph.  The knowledge is good but the application to clothing manufacturers is limited.



Business Studies

Sticky Note

Unfortunately, the development of this point about exchange rates is inaccurate because a weak £ would make exports cheaper and would therefore benefit the UK based clothing manufacturer.



Business Studies

Sticky Note

A valid point suggesting that a UK based manufacturer would need to invest into market research to tailor clothing to international tastes.  There is good application of knowledge and the point is developed to describe the importance of investing in market research.  Good knowledge and good application is evident.



Business Studies

Sticky Note

Overall, this response achieved a total of 7 marks.  With two valid points about the challenges described, the response achieved 4 AO1 marks.  There is an attempt to apply both of the challenges to a UK based clothing manufacturer so 3 AO3 marks were awarded.










4. International trade

Describe the challenges to a large UK-based clothes manufacturer when developing
products for international markets. [10]











































































































